211F-29 Simple Aspen Beret

Suggested yarn:

+ Filatura Botto Poala Aspen 3 [100% cashmere; 107 yds/98m per 0.88 0z./25g skein];
+ version A: color #18 white, 2 skeins [30g]
+ version B: color #07 baby pink, 2 skeins [30g]

Tools/Notions:
+ 3.3mm (approx. US 3) and 3.6mm (approx. US 4 or 5) double-pointed knitting needles or sizes necessary to
achieve gauge

Finished measurements:
* head circumference 49.5cm/19.49"
+ depth 19.5cm/7.68"

Gauge (10cm/4" square):
« stockinette stitch: 23 sts and 33 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, rework pattern
with your own gauge measurements.

Knitting Tips

Beret: Cast on with long-tail cast-on method. Work in k1p1 ribbing in the round, then stockinette stitch. Work pattern stitch
insert only once in the location indicated. Work evenly spaced increases and decreases as indicated. Thread yarn through
remaining stitches; cinch shut.

Top decoration: Cast on with long-tail cast-on method; work in stockinette stitch. Fold strip in half, then seam to top of hat.

Abbreviations:

CO=caston

PU = pick up

RE = row(s) even :
#-#-# = rows-stitches-times ;
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%Work pattern stitch insert only once.

> = ssk (slip, slip, knit)
2= twisted knit stitch

work 6 repeats



